
Exercises2.6

80 Chapter 2  Transformations

 1. WRITING How are the perimeters of two similar fi gures related?

 2. WRITING How are the areas of two similar fi gures related?

 3.  NUMBER SENSE Rectangle ABCD is similar 
to Rectangle WXYZ. The area of ABCD is 
30 square inches. Explain how to fi nd 
the area of WXYZ . 

9+(-6)=3

3+(-3)=

4+(-9)=

9+(-1)=

The two fi gures are similar. Find the ratios (red to blue) of the perimeters and of the areas.

 4. 

11 6

 5. 
5 8

 6. 

7 4

 7. 

9 14

 8.  PERIMETER How does doubling the side lengths of a right triangle affect its perimeter?

 9.  AREA How does tripling the side lengths of a right triangle affect its area?

The fi gures are similar. Find x.

 10. The ratio of the perimeters is 7 : 10. 11. The ratio of the perimeters is 8 : 5.

  

12

x

  

16x

 12.  FOOSBALL The playing surfaces of two foosball tables are similar. The ratio of 
the corresponding side lengths is 10 : 7. What is the ratio of the areas?

 13.  CHEERLEADING A rectangular school banner has a length of 44 inches, a 
perimeter of 156 inches, and an area of 1496 square inches. The cheerleaders 
make signs similar to the banner. The length of a sign is 11 inches. What is its 
perimeter and its area?
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Solve the equation. Check your solution. (Section 1.3)

 21. 4x + 12 = − 2x 22. 2b + 6 = 7b − 2 23. 8(4n + 13) = 6n

 24.  MULTIPLE CHOICE Last week, you collected 20 pounds of cans for recycling. 
This week, you collect 25 pounds of cans for recycling. What is the percent 
of increase? (Skills Review Handbook) 

  ○A   20% ○B   25% ○C   80% ○D   125%

14.  REASONING The vertices of two rectangles are A(− 5, − 1), B(− 1, − 1), 
C(− 1, − 4), D(− 5, − 4) and W(1, 6), X(7, 6), Y(7, − 2), Z(1, − 2). Compare the 
perimeters and the areas of the rectangles. Are the rectangles similar? Explain.

15.  SQUARE The ratio of the side length of Square A to 
the side length of Square B is 4 : 9. The side length 
of Square A is 12 yards. What is the perimeter of 
Square B?

16.  FABRIC The cost of the fabric is $1.31. What would 
you expect to pay for a similar piece of fabric that 
is 18 inches by 42 inches?

17.  AMUSEMENT PARK A scale model 
of a merry-go-round and the 
actual merry-go-round are similar.

a.  How many times greater is 
the base area of the actual 
merry-go-round than the base 
area of the scale model? Explain.

b.  What is the base area of the actual 
merry-go-round in square feet?

18.  STRUCTURE The circumference of Circle K is π. 
The circumference of Circle L is 4π.

a.  What is the ratio of their circumferences? 
of their radii? of their areas? 

b. What do you notice?

19.  GEOMETRY A triangle with an area of 10 square meters has a base of 
4 meters. A similar triangle has an area of 90 square meters. What is the 
height of the larger triangle?

20.  
Problem
Solving
Problem
Solving  You need two bottles of fertilizer 

to treat the fl ower garden shown. How many 
bottles do you need to treat a similar garden 
with a perimeter of 105 feet?
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